AKEEVEIR H R R (2 KEH3€)

] 5K
B K M g FOE/NE) KR
% /K H 1HTH 5H12H 6H8H TH6H 8H4H 9H8H 10H6H 11H10H 12H7H 1H5H 2HTH 3H2H
B K B Z 15:40 11:40 11:50 12:50 11:00 11:20 13:20 11:10 12:00 11:20 12:10 11:20 e KA %/ IME P iE

JEVERE [mg/1.] /ZE%TF’E@.
& T 16.4 19.5 23.7 23.6 23.9 25.3 15.8 12.4 1.9 1.0 2.8 3.9 25.3 2.8 14.7
K T 9.6 13.6 14.5 18.9 21.0 18.2 16.0 10.3 6.3 3.4 3.3 5.0 21.0 3.3 11.7
33 & b7 #| 0.10L E
— i M #l ImLF100ELLT 46 - - 46
K 15 wl BHEIhpnZE 9.3 - - 9.3
HEIV AR ZOLED 0.003]  0.0003 <0.0003 = - <0.0003
K K O F o k& W 0.0005] 0.00005 <0.00005 - - <0.00005
Ly R OE OIS W 0.01 0.001 <0.001 - - <0.001
W kU E o bk AW 0.01 0.001 <0.001 - - <0.001
tE E Rk B ZE O ILAEW 0.02 0.001 <0.001 - - <0.001
AN fli 7 v s b A& W 0.02 0.002 <0.002 - - <0.002
O M R ® K 0.04 0.004 <0.004 - - <0.004
ST kM AF Y RO ALY T 0.01 0.001 <0.001 - - <0.001
Y OER MR E OF & OV MY MR B E R 10 0.1 0.4 - - 0.4
7y EZ RO ZOED 0.8 0.05 <0.05 - - <0.05
AT E K O ZDOWED 1.0 0.01 0.02 - - 0.02
] i 1t % % 0.002]  0.0002 <0.0002 = - <0.0002
1, 4 - Y F * ¥ o 0.05 0.005 <0.005 - - <0.005
(oo n et 0.04|  0.001 <0.001 - -|  <o0.001
Y 7 w w A K v 0.02 0.001 <0.001 - - <0.001
> F5 Z oo F L o 0.01 0.001 <0.001 - - <0.001
kU Z mmw = F L v 0.01 0.001 <0.001 - = <0.001
~ v + v 0.01 0.001 <0.001 - - <0.001
1 ES ik 0.6 0.06
Y o o e ik 0.02 0.002
7 w vk A 0.06 0.001
Y v B 0o FEE B 0.03 0.002
Y 7w ® 4/ m om A X v 0.1 0.001
5 ES ik 0.01 0.001
N N L 0.1 0.001
AR 0.03 0.002
7 | E Y/ aoa AR 0.03 0.001
7 * N JL VN 0.09 0.001
A A A 7 L F E R 0.08 0.005
AR 1.0 0.01 <0.01 - - <0.01
TAI=ZT LK OZEDILED 0.2 0.01 0.01 - = 0.01
g% &K O+ o {t & W 0.3 0.03 <0.03 - = <0.03
W Ok O ot A W 1.0 0.01 <0.01 - - <0.01
FRIT AR ORZE DA W 200 1.0 2.8 - - 2.8
v A RO ZF0I S W 0.05 0.005 <0.005 - - <0.005
Wk B 4 F v 200 0.4 2.2 - - 2.2
AN D =T R L () 300 0.1 24.3 - - 24.3
7 3% 7% £ % 500 1 41 - - 41
R YR 0.2 0.02 <0.02 - = <0.02
Y = 4 A 2 | 0.00001] 0.000001 <0.000001 - -[ <0.000001
2-AF LAY RN A — | 0.00001] 0.000001 <0.000001 - -[ <0.000001
FE A 4 v R OmEIE A 0.02 0.002 <0.002 - - <0.002
7 = ) — L M 0.005]  0.0005 <0.0005 - -[ <0.0005
FHEY (A E (TOC) © &) 3 0.3 0.5 - = 0.5
D H fii| 5.8~8.6 0.01 7.66 - - 7.66

Lk BTN e

B K| BEETRWIE LA
&, g 5(F)| 0.5(F) 1.8 - - 1.8
& JiE 20%)  0.10%) 0.3 — — 0.3
e ]
= = 5 H B 61.3 - - 61.3
PN 1% B Rt 11 350 170 79 280 1600 540 210 170 23 14 220 1600 11 306
IV T RARY D7 I
PN 5 B 4.5 4.5 4.5 33.0 23.0 23.0 9.3 2.0 4.5  mHEd 6.8 22.0 33.0 0.0 11.4
B X M OHF Om O iR B R VAR A B 1 R BT R BRiET| B R R Riwd Ried 1 0 0
70 7 k2K YUY U A e h BT 0 0 o
P 7 )V DA 7 3 BRHEd 0 0 0




AKEEVEIR H R R (2 KEH3€)

E | FaKAE
PR oK M S e
" K H TATH 5H12H 6H8H 7TH12H 8H4H 9H8H 10H6H 11H10H 12H7H 1A5H 2HTH 3H2H
ok B A 12:20 11:10 11:30 10:20 11:20 11:40 12:50 10:50 11:40 11:40 11:40 10:50 S ON B /M R SN
JEVERE [mg/1.] /ZE%‘FIEEM[E
= T 21.5 19.5 23.7 29.9 31.7 25.3 22.1 17.4 11.8 8.2 74 6.3 31.7 6.3 19.0
K IR 18.1 20.5 21.6 27.2 29.5 27.1 23.3 18.4 11.5 8.4 6.9 9.1 29.5 6.9 18.5
% = i5 #| 0.1V E 1.01 1.17 1.02 0.79 0.50 0.29 0.47 0.70 0.75 0.75 0.72 0.84 1.17 0.29 0.75
— ik H ImL T I00TEEL e B BEEd] RS BREET] BREET] BREES BHET] BHET] BREEd e B 0 0 0
* 15 BHESNRNZE B B Bled BRHET] BRdEed BRied B BHEd] e e mbed Bibed 0.0 0.0 0.0
WEIv AR O Z0ILE D 0.003]  0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003]  <0.0003]  <0.0003
K Kk O F o b & %[ 0.0005] 0.00005 <0.00005 - - <0.00005
Ly RO EDWED 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
RN AN 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
RN NN 0.02 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
AN fli 7 v s b A& W 0.02 0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
O m = &K 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST A RO T 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
MR E R K O R EE R 10 0.1 0.3 0.3 0.4 0.5 0.5 0.6 0.4 0.4 0.3 0.4 0.4 0.3 0.6 0.3 0.4
7y EZ RO ZOED 0.8 0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05
IS RN RN 1.0 0.01 0.02 0.02 0.02 0.02 0.02 0.02 0.02
] K it 1’ % 0.002]  0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002]  <0.0002]  <0.0002
1,4 - v & x ¥ v 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
(oo n et 0.04|  0.001 <0.001 €0.001 <0.001 <0.001 <0.001]  <0.001]  <0.001
Y 7 w w A K v 0.02 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
> F5 Z oo F L o 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
N U 7 o oo ox F L v 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~ v + v 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
1 # A 0.6 0.06 0.07 0.07 0.06 0.09 0.11 0.19 0.15 0.12 0.10 <0.06 <0.06 <0.06 0.19 <0.06 0.08
s o o e A 0.02 0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
G 0.06 0.001 <0.001 0.018 0.011 0.002 0.018 <0.001 0.008
Y 7 v v [ W 0.03 0.002 0.002 <0.002 0.007 0.002 0.007 <0.002 0.003
Y 7 m % J omom A & 0.1 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
B % A 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
“w F U N u A KB 0.1 0.001 <0.001 0.022 0.014 0.003 0.022 <0.001 0.010
PR 0.03 0.002 0.005 0.004 0.009 0.003 0.009 0.003 0.005
7 0 ® v/ uu AH 0.03 0.001 <0.001 0.004 0.003 0.001 0.004 <0.001 0.002
7 v o & N A 0.09 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
A L & 7 A 5 E F 0.08 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
D Oz ot & W 1.0 0.01 <0.01 <0.01 0.01 <0.01 0.01 <0.01 <0.01
TAIZU LR OCZDOILED 0.2 0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
g% &K O+ o { & 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W &k O+ o k& B 1.0 0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
FrITV AR O ZDILEW 200 1.0 3.1 2.8 3.2 3.3 3.3 2.8 3.1
v~ A RO ZEDOIED 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
ootk B 4 * v 200 0.4 3.3 3.1 2.9 2.8 2.7 3.1 2.9 2.9 3.0 2.9 3.3 3.1 3.3 2.7 3.0
AN D =T R L () 300 0.1 25.3 23.9 24.8 29.6 29.6 23.9 25.9
7 % % 5 # 500 1 24 48 48 24 36
B4 4 v RO E A 0.2 0.02 <0.02 - = <0.02
v = #+ % =3 | 0.00001 0.000001] <0.000001 <0.000001 <0.000001 <0.000001 <0.000001] <0.000001] <0.000001
2-AF LAY RN xA— | 0.00001] 0.000001] <0.000001 <0.000001 <0.000001 <0.000001 <0.000001] <0.000001] <0.000001
F A4 F v R OEE M A 0.02 0.002 <0.002 - - <0.002
7 = ) — 0.005]  0.0005 <0.0005 - -[ <0.0005
A (A FE (TOC) O & 3 0.3 0.3 <0.3 0.6 0.5 0.5 0.8 0.5 <0.3 <0.3 <0.3 0.3 <0.3 0.8 <0.3 <0.3
D H | 5.8~8.6 0.01 7.82 7.77 7.68 7.42 7.64 7.45 7.55 7.68 7.51 7.70 7.70 7.74 7.82 7.42 7.64
S FLHE Tl E LA Bl Bl HERL LA HERL LA HERL L HERL HERL A
5 | BEEThRVWIE LA Bl LA HERL LA HERL LA HERL L HERL HERL A
3 Ji 5] 0.5(E) 0.7 <0.5 <0.5 <0.5 0.6 1.0 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 1.0 <0.5 <0.5
) JiE 2(8)] 0105 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
e ]
& = 1= iy ES 61.7 69.6 72.3 62.3 64.7 57.3 65.0 71.7 75.1 72.8 73.2 68.1 75.1 57.3 67.8
x [ it
JUT AR DT I
PN [
L S
7 0 7 F A &R YU Y ¥ A
R 7 JL 2 7




KB FETE B RS IR (R 2 KB E3E)
[ R
B Kk M RALKIE.
™ K H 4ATH 5H12H 6 8H TH6H 8H4H 9H8H 10H6H 11A10H 12A7H LA5H 2H7H 3H2H
oK B A 11:10 9:50 10:40 10:10 10:00 9:30 11:20 10:10 10:40 10:30 10:50 10:30 KA i/ IME WEIE

S [me/L]| 7 e FRAE]
= T 19.3 18.8 22.5 26.2 30.2 23.5 18.9 15.2 8.7 6.4 6.2 5.1 30.2 5.1 16.8
K IR 11.5 15.3 17.0 21.8 23.5 22.8 19.3 13.9 9.9 6.6 5.3 7.6 23.5 5.3 14.5
7% 2 i #l 0.1k
- W i & ImLTI00fHEL T 61 - - 61
PN 1% A S AN 63.0 — — 63.0
AFIV LRV ZEZOLAEW 0.003]  0.0003 <0.0003 - - <0.0003
K B 2 o £ & | 0.0005 0.00005 <0.00005 - -| <0.00005
Ly R OEONE W 0.01 0.001 <0.001 - - <0.001
B kR O F 0t & W 0.01 0.001 <0.001 - - <0.001
t# kR O FE o kAW 0.02 0.001 <0.001 - - <0.001
AN i 7 v Ak A& W 0.02 0.002 <0.002 - - <0.002
[ 0.04 0.004 <0.004 - - <0.004
T M A Ay ROy T o 0.01 0.001 <0.001 - - <0.001
Y OER MR OH & O WY R OE E HR 10 0.1 0.9 - - 0.9
7 v E R OFEONE W 0.8 0.05 <0.05 - - <0.05
BUERE X ZEONEW 1.0 0.01 0.01 - - 0.01
1] 5 1k B S 0.002]  0.0002 <0.0002 - - <0.0002
1, 4 - ¥ F % ¥ v 0.05 0.005 <0.005 - - <0.005
A -1,2-T /7 xS D [y
[T R 0.04|  0.001 <0.001 - - <o.001
Y 7 \m m A B v 0.02 0.001 <0.001 - - <0.001
5> r5 7 oo =T F L oo 0.01 0.001 <0.001 - - <0.001
KU 7 o oa x F L oo 0.01 0.001 <0.001 - - <0.001
~ v + v 0.01 0.001 <0.001 - - <0.001
I ES A 0.6 0.06
Y o o e A 0.02 0.002
7 =1 =4 i % VN 0.06 0.001
Y 7 w=v v [ A 0.03 0.002
Y 7w ® 4/ m om A2 X v 0.1 0.001
5 ES A 0.01 0.001
B U N m A E 0.1 0.001
kYU 7 m v @ 7 0.03 0.002
7 B E Y/ una AHX v 0.03 0.001
7 v ® & L A 0.09 0.001
A LV A 7 )L F E F 0.08 0.005
o K F OB W 1.0 0.01 <0.01 - - <0.01
TALI=ZULEOCZDLAY 0.2 0.01 0.02 - - 0.02
% R O * O {t & W 0.3 0.03 <0.03 - - <0.03
Wl K O E Ok AW 1.0 0.01 <0.01 - - <0.01
FTrIT AR O Z0lEW 200 1.0 3.9 - - 3.9
~ L A K OE O E W 0.05 0.005 <0.005 - - <0.005
R 200 0.4 3.3 - - 3.3
AN YL, =T Ry L% (LK) 300 0.1 28.1 - - 28.1
K b 7% & W 500 1 54 - - 54
B A A4 o R om & A 0.2 0.02 <0.02 - - <0.02
v = 4 % I | 0.00001] 0.000001 <0.000001 - -| <0.000001
2-AF LAY RNL A — | 0.00001] 0.000001 <0.000001 - - <0.000001
A4 4 v B om E M A 0.02 0.002 <0.002 - - <0.002
7 = ) — L M 0.005]  0.0005 <0.0005 - -|  <0.0005
AW (SR % (TOC) @ &) 3 0.3 1.3 - - 1.3
D H fili| 5.8~8.6 0.01 7.61 - - 7.61

Lk BTN e

B K| BEETRWIE LA
&, g 5(F)| 0.5(F) 4.8 - - 4.8
I JiE 20%)  0.10%) 0.5 — — 0.5
T
= & iz i B 77.4 - - 77.4
K 1% B Jita g 1600 540 140 540 =2400 540 920 540 79 15 43 =2400 0.0
IV T RARY D7 I
PN 1% B B 17 17 79 17 23 63 110 kKHEwd RHES BREEd 4.5 110 0.0 28
e A M F O BT R R 4 BRbET] BREET 2 BmEd 3 RHEET] BREEd| BREET 4 0 1
7V 7 R AR YT T A % e R 0 0 0
B 7 L D 7 % BRHEd 0 0 0




AKEEVEIR H R R (2 KEH3€)

E | FaKAE
PR oK M S e AL AT
" K H TATH 5H12H 6H8H TH6H 8H4H 9H8H 10H6H 11H10H 12H7H 1A5H 2HTH 3H2H
ok B A 12:10 11:10 11:20 12:00 10:40 11:00 12:20 10:20 11:20 10:50 10:40 10:40 S ON B /M R SN
JEVERE [mg/1.] /ZE%‘FIEEM[E
= T 17.6 18.8 20.5 25.7 27.9 17.6 19.3 11.9 3.6 1.6 6.1 5.2 27.9 1.6 15.3
K IR 12.6 18.3 20.3 24.4 25.9 25.6 22.4 15.3 12.4 8.9 6.6 8.0 25.9 6.6 16.7
% = i5 #| 0.1V E 0.90 0.89 0.60 0.13 0.30 0.63 0.42 0.31 0.46 0.76 0.53 0.66 0.90 0.13 0.55
— ik H ImL T I00TEEL e B BEEd] RS BREET] BREET] BREES BHET] BHET] BREEd e B 0 0 0
* 15 BHESNRNZE B B Bled BRHET] BRdEed BRied B BHEd] e e mbed Bibed 0.0 0.0 0.0
WEIv AR O Z0ILE D 0.003]  0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003]  <0.0003]  <0.0003
K Kk O F o b & %[ 0.0005] 0.00005 <0.00005 - - <0.00005
Ly RO EDWED 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
RN AN 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
RN NN 0.02 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
AN fli 7 v s b A& W 0.02 0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
O m = &K 0.04 0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
ST A RO T 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
MR E R K O R EE R 10 0.1 0.5 0.5 0.5 0.5 0.6 0.8 0.9 0.7 0.3 0.7 0.8 0.6 0.9 0.3 0.6
7y EZ RO ZOED 0.8 0.05 <0.05 <0.05 <0.05 0.05 <0.05 0.06 <0.05 <0.05 <0.05 0.06 <0.05 <0.05 0.06 <0.05 <0.05
IS RN RN 1.0 0.01 0.01 0.02 0.01 0.02 0.02 0.01 0.02
] K it 1’ % 0.002]  0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002]  <0.0002]  <0.0002
1,4 - v & x ¥ v 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
(oo n et 0.04|  0.001 <0.001 €0.001 <0.001 <0.001 <0.001]  <0.001]  <0.001
Y 7 w w A K v 0.02 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
> F5 Z oo F L o 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
N U 7 o oo ox F L v 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~ v + v 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
1 # A 0.6 0.06 0.10 0.14 0.10 0.15 0.28 0.47 0.35 0.18 0.26 0.19 0.21 0.07 0.47 0.07 0.21
s o o e A 0.02 0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
s m  w Ak A 0.06 0.001 0.019 0.048 0.025 0.012 0.048 0.012 0.026
Y 7 v v [ W 0.03 0.002 0.009 <0.002 0.010 0.007 0.010 <0.002 0.007
Y 7 m % J omom A & 0.1 0.001 <0.001 0.001 0.002 <0.001 0.002 <0.001 <0.001
B % A 0.01 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
“w F U N u A KB 0.1 0.001 0.022 0.057 0.037 0.015 0.057 0.015 0.033
PR 0.03 0.002 0.030 0.027 0.025 0.015 0.030 0.015 0.024
7 0 ® v/ uu AH 0.03 0.001 0.003 0.008 0.010 0.003 0.010 0.003 0.006
7 v o & N A 0.09 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
A L & 7 A 5 E F 0.08 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
D Oz ot & W 1.0 0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
TAIZU LR OCZDOILED 0.2 0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
g% &K O+ o { & 0.3 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
W &k O+ o k& B 1.0 0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
FrITV AR O ZDILEW 200 1.0 4.9 5.2 5.1 5.1 5.2 4.9 5.1
v~ A RO ZEDOIED 0.05 0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
ootk B 4 * v 200 0.4 4.8 4.6 4.2 4.0 4.4 4.5 4.7 4.0 4.4 4.2 4.8 4.3 4.8 4.0 4.4
AN D =T R L () 300 0.1 34.6 45.1 29.3 35.8 45.1 29.3 36.2
7 % % 5 # 500 1 58 60 60 58 59
B4 4 v RO E A 0.2 0.02 <0.02 - = <0.02
v = #+ % =3 | 0.00001 0.000001] <0.000001 <0.000001 <0.000001 <0.000001 <0.000001] <0.000001] <0.000001
2-AF LAY RN xA— | 0.00001] 0.000001] <0.000001 <0.000001 <0.000001 <0.000001 <0.000001] <0.000001] <0.000001
F A4 F v R OEE M A 0.02 0.002 <0.002 - - <0.002
7 = ) — 0.005]  0.0005 <0.0005 - -[ <0.0005
A (A FE (TOC) O & 3 0.3 0.8 0.7 0.7 0.9 0.9 1.3 0.8 0.5 0.8 0.5 1.0 0.6 1.3 0.5 0.8
D H | 5.8~8.6 0.01 7.80 7.80 7.83 7.34 7.99 7.69 7.61 7.77 7.64 7.76 7.80 7.85 7.99 7.34 7.74
S FLHE Tl E LA Bl Bl HERL LA HERL LA HERL L HERL HERL A
5 | BEEThRVWIE LA Bl LA HERL LA HERL LA HERL L HERL HERL A
3 Ji 5] 0.5(E) 0.6 <0.5 0.5 0.7 1.0 1.6 <0.5 <0.5 0.6 <0.5 0.6 0.5 1.6 <0.5 0.5
) JiE 2(8)] 0105 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
e ]
& = 1= iy ES 92.1 96.0 104 115 113 99.2 84.7 92.2 96.5 96.4 92.0 92.8 115 84.7 97.8
x [ it
JUT AR DT I
PN [
L S
7 0 7 F A &R YU Y ¥ A
R 7 JL 2 7




EHAEREHEAME (M5 KEFEE)
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